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一、单选题
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6.已知
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8.已知函数
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二、多选题

11.对于定义在
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三、填空题

13.已知
[image: image98.wmf]a

是第三象限角，其终边上一点
[image: image99.wmf](

)

,5

Px

-

，且
[image: image100.wmf]2

cos

3

a

=-

，则
[image: image101.wmf]x

的值为________.
14.已知
[image: image102.wmf]tan3

a

=

，则
[image: image103.wmf]tan

4

p

a

æö

+=

ç÷

èø

________，
[image: image104.wmf]3sincos

sincos

aa

aa

-

=

+

________．
15.已知
[image: image105.wmf]1

sin()

64

x

p

+=

，则 
[image: image106.wmf]2

5

sin()cos()

63

xx

pp

-+-

的值是_____.
16.关于
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四、解答题
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（1）用五点法画出它在一个周期内的闭区间上的图象；
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